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< Knd>
<Nane> </ Nane>
<CGode>23</ Qode>
<d asshane> </ C bssNane> “ "
<Property>
<Type> </ Type>
<TyphoonNanePar t >
<Nanme>NAKR </ Nane>
<NareKana> </ Na eKana>
<Nurber >0805</ Nuniber >
</ TyphoonNanePar t >
</ Property>
< K nd>

< Knd>

<Dat eTi ne type=" "' >2008- 06- 02T03: 00: 00+09: 00</ Dat e Te> “ "
<Property>
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<Type>
<d assPart >
< nx_eb: Typhoond ass t pe="
</ d assPart >
<Center Part >
< nx_eb: @ordinate yp €'

</ Type>

"> < x_eb: Typhoond ass>

" condi t o=" edcription =

">+23. 5+133. 6</j mx_eb: Qor di nat e>

<Locati on> </ Lo etion>

< nx_eb:Orection type &

< nx_eb: Seed type="
">12</ j nx_eb: Speed>

< nx_eb: Pressure ype="

" 965</j nx_eb: Pressure>

</ CenterPart>
</ Property>
<Property>
<Type> < Type>
<WndPart >
< nx_eb: WndSpeed ty p &

"ounit="

"ounit=" "> <jnx_eb:Drection>

" cond tion=" " description="

nut ="hPa" des ct ption="

">70 K nx_eb: WndSpeed>

</ WndPart >
<Vér ni ngAr eaPart type=" ">
< nx_eb: WndSpeed ty p &
">50</ j nx_eb: WndSpeed>
< nx_eb:drcle>
<j nx_eb: Axes>
< nx_eb: Axi s>
<j nx_eb: O rection type="
"
<j nx_eb: Radi u st pe="
</j mx_eb: Axi s>
</ j nx_eb: Axes>
<jmx_eb:drcle>
</ \dr ni ngAr eaPart >
<Vér ni ngAr eaPart type=" ">

"ounit=" " ¢ odition=" " descr p ton="
"ounit=" " condi ton=" " description="
"ounit=" " condi ti on=" " descr ption =
" unit=" " de s iption=" "S50</jmx_ b:Radiu 3

@ondi tion

@ondi ti on
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< nx_eb: WndSpeed ty p & "ounit=" " condi ton=" " description="
">30</ j nx_eb: WndSpeed>
< nx_eb:drcle>
<j nx_eb: Axes>

< nx_eb: Axi s>
<jnx_eb: Drectio ntype=" "ounit=" "> </jnx_eb: D rection> 2
< nx_eb: Radiu s type=" " ounit=" " description="

" 230</j nx_eb: Radi us>
</j mx_eb: Axi s>

< nx_eb: Axi s>
<jnx_eb: Drectio ntype=" "ounit=" "> </jnx_eb: D rection>
< nx_eb: Radi u st pe=" " unit=" " de s iption=" ">00</jmx_ b:Radiu 3

</j mx_eb: Axi s>
</ j nx_eb: Axes>
<jmx_eb:Arcle>
</ \dr ni ngAr eaPart >
</ Property>
< K nd>

< Knd>
<Dat eTi ne type=" " >2008- 06- 03T03: 00: 0 ©09: 00</ Dat €Ti ne> “ "
<Property>
<Type> </ Type> “ "
<Center Part>
<Probabi litydrcle typ & "> “ "
<j nx_eb: BasePoint ty p=" " edcrip ton="
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' %29, 5+137. 4/ </ j nx_eb: BaseP bnt >

<j nx_eb: Axes>
< nx_eb: Axi s>
<jnx_eb: O rection type=" "ounit=" " condi ti on="
II/ >

" descr ption =

<j nx_eb: Radi u st pe=" "ounit=" " descriptio &'

">85</j nx_eb: R di us>
</j mx_eb: Axi s>
</ j nx_eb: Axes>
</Probabilitydrcl e>

< nx_eb: Pressure ype=" nut ="hPa" des c ption="

' 990</j nx_eb: Pressure>

</ CenterPart>
</ Property>
<Property>
<Type> < Type>
<WndPart >
< nx_eb: WndSpeed ty p & "ounit=" " ¢ odition="
">45 K nx_eb: WndSpeed>
</ WndPart >
</ Property>

< K nd>

<

Knd>
<Satus> <S bus>
<Gondi ti on> </ Gondi ti on>
<Dat eTi ne type=" " >2008- 06- 04T03: 00: 0 ©09: 00</ Dat €Ti ne>
<Property>

<Type> </ Type>

<Center Part >

<Probabi litydrcle typ & ">
<j nx_eb: BasePoint ty p=" " edcrip ton="

' %34, 2+145. 4] </ j nx_eb: BaseP bnt >

<j nx_eb: Axes>
< nx_eb: Axi s>
<jnx_eb: O rection type=" "ounit=" " condi ti on="

" descr p ton="

" descr ption =

@ondi tion

48
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"> @ondi tion
<j nx_eb: Radi u st pe=" "ounit=" " descriptio &'
">180</j nx_e bRadi us>
</j mx_eb: Axi s>
</ j nx_eb: Axes>
</Probabilitydrcl e>
< nx_eb: Pressure ype=" " nut="hPa" des c ption="
" 998</j nx_eb: Pressure>
</ CGenter Part >
</ Property>
<Property>
<Type> < Type>
<WndPart >
g nx_eb: WndSpeed t p &' " ounit=" " description="
" 40</ j nx_eb: WWndSpeed>
</ WndPart >
</ Property>
< K nd>

< Pea>
<Nane> </ Nane> “ »
< nx_eb:drcle type=" "> “ "
<j nx_eb: BasePoi nt type=" " descripti o=" 24
" »23.5+133. 6/ </ j nx_eb: BaseP bnt >
<j nx_eb: BasePoi nt type=" " eds rption="
">+26. 4+135. 1/ </ j nx_eb: Bas Eoi nt >




<j nx_eb: BasePoi nt type=" " eds rption="
">+29. 5+137. 4/ </ j nx_eb: Bas €oi nt >
<j nx_eb: Axes>

< nx_eb: Axi s>

<jnx_eb:DOrection ty p=" "ounit=" "> </jnmx_eb: D rection>

<j nx_eb: Radi us t ype=" "ounit=" " descript bn=" ">130</j nx_e bRadi us>
</j nx_eb: Axi s>
< nx_eb: Axi s>

<jnx_eb:DOrection ty p=" "ounit=" "> </jnx_eb: D rection>

<j nx_eb: Radi us type=" "unit=" " descript bn=" ">90</j nx_eb: R di us>

</j nx_eb: Axi s>
</ j nx_eb: Axes>
<jmx_eb:drcle>
< Aea>




< Knd>
<Nane> </ Nane>
<Code>20</ Qode>
<d asshane> </ C bhssNare>
<Property>
<Type> </ Type>
<TyphoonNanePar t >
<Nane/ >
<NaneKana/ >
<Nunber/ >
</ TyphoonNanePar t >
</ Property>
<Property>
<Type> </ Type>
<WndPart >
< mx_eb: WndSpeed ty p = "unit=" " ¢ odition=" " descr p ton="
">30 K nx_eb: WndSpeed>
</ WndPart >
</ Property>
< K nd>




< Knd>
<Dat eTi ne type=" "' >2008- 06- 02T03: 00: 00+09: 00</ Dat e Me> “ "
<Property>
<Type> </ Type> u "
<d assPart >
< nx_eb: Typhoond ass t pe=" "> </ j nx_eb: Typhoond ass> “ "
</ d assPart >
<Center Part>
< nx_eb: @ordinate yp &' " condi t o=' " descri ption="
">+12. 5+11 66/ </ j nx_eb: Mor di nat e>
<Locat i on> </ Lo etion>
<nx_eb:Orection type & "ounit=" "> </jmx_eb: D recti on>
< nx_eb: Soeed type=" "ounit=" " desc rption=" ">7</j nx_e bSpeed>
< nx_eb: Pressure ype=" " nut="hPa" des c ption="
">1004</ j mx_eb: Pressure>
</ CenterPart >
</ Property>
< K nd>

< Pea>
<Nane> </ Nane> “ »
< nx_eb: @ordi nat etype=" " descript ot

' »12. 5+116. 6/ </ j nx_eb: Gor d hat e>

< Area>







< Knd>
<Nane>
<Gode>22</ Gode>
<d asshane>
<Property>
<Type> < Type>
<WndPart >
<Beconi ng>
<Ti neMbdi fi er>
< nx_eb: WndSpee dty p="
" 80</ j nx_eb: WWndSpeed>
</ Beconi ng>
</ WndPart >
<Vér ni ngAr eaPart type="
< nx_eb: WndSpeed ty p &
">30</ j nx_eb: WndSpeed>
< nmx_eb:drcle>
<j nx_eb: Axes>
< nx_eb: Axi s>

</ Nane>

</d ass bhe>

<j nx_eb: Radi u s type="
" 2100</ j mx_eb: Radi us>
</j mx_eb: Axi s>
< nx_eb: Axi s>

<jnx_eb: Radiu s type="
" 800</j nx_eb: Radi us>
</j nx_eb: Axi s>

<jnx_eb: Drectio ntype="

<jnx_eb: Drectio ntype="

</ Ti neMdi fi er>

unit %
" unit=" " condi
"ounit="
unit
"ounit="
unit="

w

' description

ton=" " description="

"> </jnx_eb:Drection>
descri pti on="

"> <jnx_eb:Drection>
descripti on="




</ j nx_eb: Axes>
<jmx_eb:drcle>
</ dr ni ngAr eaPart >
</ Property>
< K nd>

< Knd>
<Qondi ti on> < Qonditi o> “ " “ "
<Dat eTi ne type=" "' >2008- 02- 26T21: 00: 00+09: 00</ Dat e Tne>
<Property>
<Type> </ Type> “ "
<Center Part >
< nx_eb: @ordinate ty p=" " de ciption="
' #35+138/ </ j mx_eb: Goor di nat
<Locat i on> </ Lo etion>
<nx_eb:Orection type & "ounit=" "> </jmx_eb: Drection>
< nx_eb: Seed type=" " unit=" " de s iption=' ">30</ j m xeb: Spe e>d
< nx_eb: Pressure ype=" " nut="hPa" des ciption="
">1000</ j nx_eb: Pressur e>
</ Center Part >
</ Property>
<Property>
<Type> </ Type>
<@oor di nat ePar t >
< nx_eb: Li ne t ype=" " description="
" >+35+138/ +35+141/ +35+143/ £j nx_eb: Li ne>




</ Goor di nat ePart >
</ Property>
<Property>
<Type> </ Type>
<Qoor di nat ePart >
< nx_eb: Li ne t ype=" " description="

' »35+138/ +33+137/ +32+134/ +3 8133/ +28+131/ </ j nx_eb: Li ne>
</ Gor di nat ePart >
</ Property>
< K nd>

< Knd>
<Dat eTi ne type=" ">2008- 02- 27T09: 00: 0 ®09: 00</ Dat eTi ne> “ !
<Property>
<Type> </ Type>
<Center Part>
<Probabi litydrcle typ & "> “ "
< nx_eb: BasePoint t pe=" " de sription="
' #38+145/ </ j nx_eb: BasePoi nt >
<j nx_eb: Axes>
< nx_eb: Axi s>
<j nx_eb: O rection type=" " unit=" " condi ti on=" " descr ption =
"> @ondi tion
<j nx_eb: Radi u st pe=" " ounit=" " description =
' 80</ j mx_eb: Radi us>




</j mx_eb: Axi s>
</ j nx_eb: Axes>
</Probabilitydrcl e>
</ CGenter Part >
</ Property>
< K nd>
< Knd>
<Dat eTi ne type="
<Property>
<Type>
<Center Part>
<Probabi litydrcle typ &
<j nx_eb: BasePoint t pe="
" »A7+152/ </ j nx_eb: BasePoi nt >
<j nx_eb: Axes>
< nx_eb: Axi s>

</ Type>

<j nx_eb: O rection type="

">

<jnx_eb: Radius t pe="
" 200</j nx_eb: Radi us>

</j mx_eb: Axi s>
</ j nx_eb: Axes>
</Probabilitydrcl e>
</ CGenter Part >
</ Property>

< K nd>

">2008- 02- 27T21: 00: 0 809: 00</ Dat €Ti ne>

' de sription="
" unit=" " condi ti on="

"unit=" ' description="

" descr

ption =

@ondi tion




< Pea>
<Nane> </ Nane>
< nx_eb:drcle type="
<j nx_eb: BasePoi nt  type="
' #35+138/ </ j nx_eb: BasePoi nt >
<j nx_eb: BasePoi nt type =
' #38+145/ </ j nx_eb: BasePoi nt >
<j nx_eb: BasePoi nt type =
' #47+152/ </ j nx_eb: BasePoi nt >
<j nx_eb: Axes>
< nx_eb: Axi s>

<j nx_eb: Radi us
' $#100</j nx_eb: Radi us>
</ j nx_eb: Axi s>
<j nx_eb: Axi s>

typ €'

<j nx_eb: Radi us type="
</ j nx_eb: Axi s>
</ j nx_eb: Axes>
<jnx_eb:drcle>
< ANea>

<nx_eb:Orection ty p="

<nx_eb:Orection ty p="
" unit="

de s rption="
" d ecription

" d ecription

"unit="
un t="

"unit="
" descript bn="

IF

IF

"> </jnx_eb:Direction>
description

w

"> </jnx_eb:Drection>

">600</j nx_e bRadi us>




< Knd>
<Nane> </ Nane>
<Gode>21</ Qode>
<d asshane> </d ass he>
<Property>
<Type> < Type>
<WndPart >
g nx_eb: WndSpeed t p &' " ounit=" " description="
">45</ j nx_eb: WndSpeed>
</ WndPart >
<Vér ni ngAr eaPart type=" ">
< nx_eb: WndSpeed ty p & "ounit=" " condi ton=" " description="
">30</ j nx_eb: WndSpeed>
< nx_eb:drcle>
<j nx_eb: Axes>

< nx_eb: Axi s>
<jnx_eb: Drectio ntype=" "ounit=" "> </jnx_eb: Drection> 2
< nx_eb: Radiu s type=" " ounit & " description="

" 2100</ j mx_eb: Radi us>
</j mx_eb: Axi s>

< nx_eb: Axi s>
<jnx_eb: Drectio ntype=" "ounit=" "> <jnx_eb:Drection>
< nx_eb: Radiu s type=" " ounit=" " description="

" $00</j nx_eb: Radi us>
</j mx_eb: Axi s>
</j nx_eb: Axes>
<jmx_eb:drcle>
</ \er ni ngAr eaPar t >




</ Property>
< K nd>

< Knd>
<Condi ti on> </Gonditi o>
<Dat eTi ne type=" "' >2008- 02- 29T09: 00: 00+09: 00</ Dat e Tne>
<Property>
<Type> </ Type>
<Center Part >
< nx_eb: @ordinate ty p=" " de ciption="
' #46+176/ </ j nx_eb: Goor di nat
<Locat i on> </ Locat i on>
<nx_eb:Orection type & "ounit=" "> </jmx_eb: Drection>
< nx_eb: Seed type=" " unit=" " de s iption=" ">25</ j m xeh: Spe e>d
< nx_eb: Pressure ype=" " nut="hPa" des c ption="
' 978</j nx_eb: Pressure>
</ Center Part >
</ Property>
<Property>
<Type> </ Type>
<@oor di nat ePar t >
< nx_eb: Li ne t ype=" " description="
">+A6+176/ +44+179/ +42+180/ Aj nx_eb: Li ne>
</ Qoor di nat ePart >
</ Property>
<Property>




<Type> </ Type>
<@oor di nat ePar t >
< nx_eb: Li ne t ype=" " description="
" >+42+180/ +39- 176/ +35- 174/ Kj nx_eb: Li ne>
</ Goor di nat ePart >
</ Property>
<Property>
<Type> </ Type>
<@oor di nat ePar t >
< nx_eb: Li ne t ype=" " description="

" >+42+180/ +39- 179/ +3 %179/ +30+177/ +27+174] +24+1 @ </ j nx_eb: Li ne>
</ Qoor di nat ePart >
</ Property>
< K nd>

< Pea>
<Nare> </ Nane> “ "
<gnx_eb:drcle type=" "> “
<j nx_eb: BasePoi nt  t ype=" " de s rption="
' #46+176/ </ j nx_eb: BasePoi nt >
<j nx_eb: Axes>

< nx_eb: Axi s>
<jnx_eb:DOrection ty p=" "ounit=" "> <jnx_eb:Drection>
<nx_eb:Radius typ " " ount=" " description & 2

' $100</ j nx_eb: Radi us>




</j nx_eb: Axi s>

< nx_eb: Axi s>
<jnx_eb:DOrection ty p=" "ounit=" "> <jnx_eb:Drection>
<j nx_eb: Radi us t ype=" "ounit=" " descript bn=" ">700</j nx_e bRadi us>

</j nx_eb: Axi s>
</ j nx_eb: Axes>
<jmx_eb:drcle>
< Aea>




< ten»
<Ki nd>
<Nane> </ Nane>
<Mode>21</ de>
<d asshane> < A assNane>
</ Ki nd>
<Ki nd>
<Property>
<Type> < Type>
<WndPart >
< nx_eb: WndDO recti o ntype=" "ounit=" "> </jmx_eb:WndD recti o>
<j mx_eb: WndSpeed ty p=" "ounit=" " c odition=" " descript b R
" 30</ j nx_eb: WWndSpeed>
< nx_eb: WndSpeed t pe=" " unit=" " description="
" 35</j nx_eb: WndSpeed>
</ WndPart >
</ Property>
</ Ki nd>
<Area>
<Nane> </ Nane>
<j nx_eb: Pol ygon type & " descri ption="
" »35+128/ +28+129/ +22+124/ +2 6119/ +20+116/ +23+116/ +26+1 @/ +30+122/ +35+125/ +35+128/ </ j nx_eb: Pol ygon>
</ Area>
< Itenr
< ten»
<Ki nd>




<Nane> </ Nane>
<(ode>11</ de>
<d asshane> < (A assNanme>
</ Ki nd>
<Ki nd>
<Property>
<Type> < Type>
<Text > < Te k>
</ Property>
</ Ki nd>
<Area>
<Nane> </ Nane>
<j nx_eb: Pol ygon type & " descri ption="

" »30+150/ +35+163/ +33+180/ +2 8166/ +28+150/ +30+150/ </ j nx eb: Pol ygon>

</ A ea>

< [tem»




<l temr
<Ki nd>
<Nane>
<CQode>21</ Gode>
<d asshNane> </d ass\a g»
<Property>
<Type> < Type>
<WndPart >
<Beconi ng>
<Ti neMbdi fi er>

</ Nane>

< nx_eb: WndSpeed type="
">30</ j nx_eb: WndSpeed>
< nx_eb: WndSpeed type="
" 35</j nx_eb: WndSpeed>
</ Beconi ng>
</ WndPart >
</ Property>
</ Ki nd>
<Area>
<Nane> </ Nane>
<(de>9010</ Gode>
</ Area>
< Itenr

< temr
<Ki nd>
<Nane>

</ Nane>

< nx_eb: WndDO rect bn type="
< nx_eb: WndDO rect bn type="

</ Ti neModi fi e>

"ounit=" "> </jnx_eb:WndO rec ton>
"ounit=" "> </jmx_eb:WndD r etion>

" unit=" " ¢ odition=" " descripti o=
"ounit=" " description'=




<CQode>11</ Gode>
<d asshNane> </d ass\a g»
</ K nd>
<Ki nd>
<Property>
<Type> < Type>
<Text >
</ Property>
</ K nd>
<Area>
<Nange> </ Nane>
<Code>9050</ (Gode>
< Area>
</ltenmr

</ Te x>




<Ki nd>
<d asshane> </d ass\a e»
<Property>
<Type> </ Type>
<CenterPart>

< nx_eb: @ordinate ty p="
" »42+134/ </ j nx_eb: Goordi nat &
gnx_eb:Orectionty p &
">
< nx_eb: Seed type="
">
< nx_eb: Pressure ype="
">1012</ j mx_eb: Pressure>
</ CGenter Part >
</ Property>
< K nd>

< Knd>
<d asshane>
<Property>
<Type>
<Center Part>
< nx_eb: @ordinate ty p="
" #51+162/ </ j nx_eb: Goor di nat
<nx_eb:Orection type &
< nx_eb: Seed type="
"></ j nx_eb: Speed>
< nx_eb: Pressure ype="
" >1006</ j mx_eb: Pressur e>

</d ass\a a»

</ Type>

"ounit="

d e ciption="
" unit=" " condi ti on="
" cond tion=" " desc i pion="

nut ="hPa" des ct ption="

d e ciption="
"unit=" "> </jnx_eb: D rection>
" unit=" " cond tion=" " descript D B’

nut ="hPa" des ct ption="

" descr ption="




</ Center Part >
<Text >
</ Property>
< K nd>

</ Text >




